FUBAG

SJIEKTPOCTAHIIUA TI 4300 ES (IIUDP 641025)

'."3]

thj 1 .

33-&""

[MO3ULI1N KO/JL HANMEHOBAHUE KBO ('])I i
1 64269000100 JABUI'ATEJIb B CbOPE 1
2 64205000200 PAMA 1
3 64205000400 ITAHEJIb TOIUVIMBHOTI'O BAKA 1
4 70100003000 BOJIT (M6x16) 3
5 63814000400 BUBPOU30JIATOP 4
6 70100005400 BOJIT (M6x16) 4
7 64205000900 TOIUJIUBHBIN BAK (G2A) 1
8 63814000700 YIUIOTHUTEJIb TOIVIMBHOI'O BAKA 4
9 63815001600 BTVJIKA TOIUIMBHOI'O BAKA 4
10 70600003100 IIAVIBA 4
11 70100001700 BOJIT (M6x20) 4
12 64204000300 TPYBKA TOIUVIMBHAA 3
13 64205001000 [IPYKHMHA TOIIJIMBHOM TPYBKU 3
14 63265000600 3AXKUM TOIUIMBHOM TPYBKU 3
15 62015001000 3AXKHM TOIUIMBHOM TPYBKU 3
16 63013002800 ®UJIBTP TOIUIMBHBIN 1




17 63265001500 BBIKJIFOUATEJIb TOIUIMBHbBIN 1
18 70300002200 BUHT (GB/T9074.4) 1
19 61013002200 KPAH TOIUIMBHBIN 1
20 70300002100 BUHT (GB/T9074.4) 1
21 630H2000400 BJIOK UHBEPTOPHbBIN 1
22 64615000900 KPOHILITEMH MTHBEPTOPA 1
23 70100000400 BOJIT (M6x12) 5
24 64203000200 [IAHEJIb IIEPEHSISA 1
25 70100001700 BOJIT (M6x20) 4
26 67204000100 BTVJIKA 3AILIUTHAS )XT'YTA I[TIPOBOJIOB 1
27 64265000400 [IAHEJIb 1
28 70300002200 BUHT (GB/T9074.4) 6
29 70600000600 LIIAVBA 1
30 70600000500 LIIAMBA 1
31 70600000800 LIIAMBA ITPYXUHHA S 1
32 70200000200 BOJIT 1
33 64403000300 TPOC BO3YILIHOM 3ACJIOHKU 1
34 61165000100 YIDIOTHEHUE PO3ETKU ITOCTOSIHHOI'O TOKA DC 1
35 61166000500 PO3ETKA IIOCTOSHHOI'O TOKA DC 1
36 63186000200 BBIKJIFOYATEJIb DC 1
37 62016000300 BBIKJIFOYATEJIb OCTAHOBKU JIBUT ATEJISA 1
38 61013003400 KOJITIAUOK BJIATO3ALLUTHBIN 2
39 61016000900 [IEPEKJIIOYATEJIb DKO-PEXXUMA 1
40 63016001400 MOYJIb 3AXKUT AHIS 1
41 70300002300 BUHT (GB/T9074.4) 1
42 61016001900 KHOIIKA CEPOCA 1
43 63016002400 JIMCIIJIEN 1
44 70200003200 TANKA 2
45 61016000800 PO3ETKA [TIEPEMEHHOI'O TOKA AC 2
46 70300001200 BUHT 8
47 61016001700 BBITIPSIMUTEJIb B CBOPE 1
48 70300002000 BUHT (GB/T9074.4) 1




FUBAG

SJIEKTPOCTAHIUA T1 4300 (IHUDP 641025) nurareas MT 230

[MO3ULI1N KO/ HANMEHOBAHUNE KBO ('])I i
1 G5789-08032-00 BOJIT (M8x32) 6
2 91202-254106-00 CAJIbHUK 2
3 15600-168101-00 LIYII MACJISIHBIN 1
4 11300-168202-00 KPBIIIIKA KAPTEPA 1
5 11381-168101-00 ITPOKJIAZIKA KPBIIIIKH KAPTEPA 1
6 94301-08014-00 BTVIJIKA 2
7 96100-6205201-00 HNOAUINITHUK 2
3 13310-2}2{?101-00- KOJIEHBAJI 1
9 14100-170401-00 PACIIPEJIBAJI 1
10 14441-168501-00 TOJIKATEJIb 2
11 14410-168501-00 IOTAHI'A TOJIKATEJIA 2
12 G5787-06016-00 BOJIT (M6x16) 8




13 15510-168101-00 JIATYMK YPOBHS MACJIA 1
14 12000-170A202-00 KAPTEP 1
15 90601-10200-00 I[IIABA 2
16 90131-10015-00 BOJIT 2
17 13200-225101-00 IIIATYH B CBOPE 1
18 13111-168201-00 TTAJIEL] TTOPLLIHSI 1
19 90551-168201-00 | KOJIBL[O CTOIOPHOE ITOPILIHEBOIO MTAJIbIIA 2
20 13101-170B101-00 TTOPLIEHD 1
21 13010-170201-00 HABOP ITOPIIHEBBIX KOJIEL] 1
22 12210-170201-00 TOJIOBKA IIVJIMH/IPA 1
23 90043-06095-00 IITTAJIBKA 2
24 12251-170201-00 MTPOKJIAJIKA TOJIOBKU LIMJIMH/IPA 1
25 94301-10016-00 BTVJIKA 2
26 90047-08034-00 BOJIT 2
27 G5789-08060-00 BOJIT (M8x60) 4
28 98097-188201-00 CBEYA 3AXKWUTAHUA 1
29 14711-170201-00 KJIATIAH BITYCKHO# 1
30 14721-170301-00 KJIATIAH BBIITYCKHOM 1
31 12209-168101-00 KOJITAYOK MACJIOCBEMHbIN 1
32 14751-168101-00 IIPYIKMHA KJIATTAHA 2
33 14773-168101-00 | CEJUJIO ITPYYKUHBI BITYCKHOT'O KJIATIAHA 1
34 14773-168101-00 | CEJUIO IIPY)KUHBI BBIITYCKHOI'O KJIATTAHA 1
35 14781-168101-00 CYXAPb 1
36 14791-168101-00 | TIJIACTUHA HAIIPABJISIIOLLA S TOJIKATEJIE 1
37 1445 1-06000-00 OCb KOPOMBICJ}/Z 1% IEE&SI//IHHPOBOIJHHMH 5
38 14431-168101-00 KOPOMBICJIO 2
39 12391-168201-00 | TIPOKJIAJIKA KPBILLIKHU TOJIOBKH LIMJIMH/IPA 1
40 12310-168401-00 KPBIIIKA TOJIOBKH LIMJTMHIPA 1
41 G5789-06012-00 BOJIT (M6x12) 6
42 16212-168201-00 ITPOKJIAJIKA AJTATITEPA KAPIOPATOPA 1
43 16211-170401-00 AJIAIITEP KAPBIOPATOPA 1
44 16221-168201-00 TTPOKJIAJIKA KAPBIOPATOPA 1
45 16100-650101-00 KAPBIOPATOP 1
46 31223-168101-00 IIIATOBBII IBUTATEJID 1
47 G0818-04025-00 BUHT (M4x25) 3
48 31220-170101-00 IIIATOBBII JIBUTATEJID 1
49 G0818-04006-00 BOJIT (M4x6) 2




50 19630-168401-00 KOXYX BEPXHUI 1
51 16269-168205-00 ITPOKJIAJIKA BO3/IYIIIHOI'O ®UJILTPA 1
52 17250-G20101-00 ®UJILTP BO3YILIHbBIN 1
53 G6177-06000-00 TAMKA M6 2
54 19611-168220-00 IIJIATA 1
55 94301-0608017-00 IITU®DT (6.3x8x22) 4
56 64211000100 CTATOP 1
57 G5787-06060-00 BOJIT (6x60) 4
58 64201000200 POTOP 1
59 G16674-14000-00 T'AMKA (M14x1.5) 1
60 19511-B30101-00 KPBIJIbUATKA 1
61 28451-208101-00 CTAKAH CTAPTEPA 1
62 G5787-06016-00 BOJIT (6x16) 4
63 19610- 15(1)401'00' KOPITYC CTAPTEPA 1
64 G5787-06020-00 BOJIT (6x20) 4
65 28410-168302-00 CTAPTEP B CBOPE 1
66 19630-168401-00 JIE®JIEKTOP 1
67 94301-070923-00 BTVJIKA (7x9x23.5) 2
68 G5787-06040-00 BOJIT(6x40) 2
69 30510-168B301-00 KATVYIIKA 3AXUT AHUSA 1
70 94301-070923-00 KOJITTAUYOK 1
71 15721-168102-00 TPYBKA TOIUIMBHA S 1
72 19513-168101-00 JIE®JIEKTOP 1
73 93036001000 JTATUMK XOJIJIA 1
74 95001-168101-00 TPYBEKA TOITUIMBHAS 1
75 95003-10000-00 XOMVYT D9.5 2




